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SRR (Physics)

o o X <o s g wver v o oo 2, g D o e are 7 A A
CFTA [T WA T2 (A heat engine in each cycle does positive work and loses energy

as heat, with no heat energy input. Which law of thermodynamics does the engine violate?)

(A) BT 31 (zeroth Jaw.) (B) =905 > (first law,)

(©) 8w 1 (sccond faw.) (D) 9 9@ (third law.)

- fom e eire 40 qra Wy SfGR2TZ FS? (What is the current through the 4 0 resistor in the

circuit shown). S

(A) 5/4 Ampere (B) 5/8 Ampere 2n 4
©1Am i

pere (D) 4/5 Ampere
avﬁmﬁn%mmﬁefﬁfbmmﬁmmma @nzy,
e @R @R e 2 (A ray of light passes through three \
media as shown. Which order of the velocities iscorrect?) @y,
(A)V,>v,>v, (B)v,>V3>V| x

©Cvy>v;> v D)y >v;> v, @l=v, N\

avﬁmﬁmaﬂ%m«wmwmmm
FifS T v o el W (An ideal gas expands into vacuum in an insulated rigid vessel.
Which of the followings happens?)

(A) =88 3 T “fis zm (no change of internal energy.)

(B) ©II=RI1 ZI MW (a decrease of temperature.)

(C) BTeera CRTAT *(f33 T A1 (no change of pressure.) (D) 711 *ff&@%= 701 (a change of phase.)
<3 T e o L @A M 1 U 93 A T £ W, ST O B o2 (A piano wire has 3
length L and mass M. If its fundamental frequency is £, then the tension in the wire is:)

(A)2Mf3/L (B) 4MLf? ©) 43 /M (D) 4fM/L
Mwﬁsmwaﬁamﬁmwwmmmﬁmaw&ﬁuwm
T T, TR AAFOT ARG O | @R WO AT T 4w FrHa iR wan (When a highly
coherent beam of light is incident on a very fine wire, the shadow formed behind it is not just that of a
single wire, but rather looks like the shadow of several parallel wires. Which one of the followings
explains this phenomenon?)

(A) &fET31 (refraction) (B) Woraa (diffraction) (C) sfowmra (reflection) (D) @iz fiFT (Doppler effect)
cNZ @t v gl T e v fim WG MR S o 1 (A particle is moving with a
velocity of ¢/vVZ. What is the kinetic energy of the particle? The rest mass of the particle is me)

(A) 0.414 myc? (B) 0.25 myc? (C) 1.414 myc? (D) 2.0 myc?

10 kg Sz 930 T9a Borm 2F WitTa | AT A T T G W60 m/stl M s @l
T TR SF AR T SN R W oy 70 G SO m/s? W, TR T M w2 (A force of
magnitude 2F acting on a body of mass 10 kg produces an acceleration of 60 m/s%. If a force of
magnitude SF acting on a body of mass M produces an acceleration of 50 m/s?, then what is the mass
M?)

(A)3.3kg (B)4.8kg (C)21kg (D)30kg
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"

:::m::::ﬁ» o 008z Aupere Aene wat s e T SR SR M-
Tigom n altermating current i -
W:::'Twmnmmmonm l;cmudbylboequulont 100 sin 2wt Ampere,
(A) 70.7 Ampere (B) 100 Ampere (€) 50

Amipere (D) 200 Ampere
:l:m'lﬁm ;vﬁmﬁmoMmmmummnmﬁww (What is
Mﬂ""m) speed of a pasticle having simple harmonic motion of amplitude 0,02 m and frequercy 2.5
(A) 0.05 ms* (B)0.128 ms? (€)0.157 my”! !

; (D) 0314 ms’
50N @2 30 R ™l 050 kg s wween Tww A SEY GOV
o Wi wfivs fm fon uf Wfss o sy v oy SOBE 4, =06 9% py =08
W, oA m/st 4@ T P T (A horizonal force of 5.0 N pushes 4 0.50 kg rectangular
body against a vertical wall. The body was initially at test. I the static snd kinstic coelMicients of friction
are j4; = 0.6 and i, = 0.8, respectively then what is the acceleration of the body in units of m/s* 7)
(A)18 (8)2.0 ()60 (D)8.0

12. wofd oTen fowm Fro TTREATCTRSTY Ty s S ST TR WA B v, | S aFh v

13.

14,

AT RTR W T @ W S WM (The maximum speed of particle of a string carrying 8
:Lm)noidllumiu..Whmhdhplummohpmichcnmcwhghwufmmum itx speed
(A v, /2 (8) V3,2 © 2 (D) 3u,/4

a3 R ool R o s @3 B0 0 (8) Farred 08 @ 2 seTTt v o W
iy FRBWOR A 9% Z TR M (A certain nucleus, after absorbing a neuron, emits & (A7)
particle and then splits Iamtwollph:pmunnelndZ.mpodivelyemwodginumkum)
(A) 6,3 B)7.2 73 (D)8, 4

o WoW TR S, r upoR awh ToreE one v FECE G IR (T GINE (W W
(Admgeormunmdecismllmmlwvhlcmwormr.mmmaw
magnetic field at the center of the circle is: )

(A) poew/(4nr?) (B) pgev/(2nr) (C) gew/(mr*) (D) pge/(4mvr)

| T SR G (T 7 (Which one Is the unit of angular momentum?)

W kgm’s* B)kgms? () kgms" (D) kg m's®

FRA(M QT 10110101, TS FEFM A 100113 333 FCHIMTeST TN (The binary number found afier
subtracting 10011, from the binary number 10110101 153)

(A) 10110010, (B) 10100010, (C) 10100101, (D) 10100011,

B ooy wiiee ow aomy wiw wRY CRAT e 92 wet 40Y v wewwps iy wTE WY 61 5
wewn orr b ru | 1 4R G4 o e o willig yry W [Band sbest] Pum o tewst
un.wnsu—smuw-uouu-"ai-‘ He
weel of wemé & S =N *u&-—‘-—lﬂu——n\-—aﬂmh
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18.

19.

20.

21

24,

foAfd o83, 4,5 o & Wy ¥R W 8,0 QR ¢, @AM TV VT W wfr& d+b+e=
0 | o |@x(@xb)| @3 == A (Theee vectors d, b nnd-c’. of magnitudes 4, 3 and §,
respectively add (0 zero .. @ + b + @ = 0. Then the value of |& x (@ x B) | is:)

(A)12 (B) 60 (€25 . OB

o @R PR 9 /e, 97 I FIA? (Which one of the following quantities has the same
units of Ko /€,7)

(A) (@)? (velocity?) (B) (G1%)? (resistance?)

(C) BIF oW (magnetic field) (D) aqfe f&sa (electric potential)

SORIRIY 11 (T b fova el waf® Temmrara s e ot 3 e o R v
W? (An annular aluminium ring is made as shown in the diagram by cutting an aluminium sheet. What
happemwhenthisishuted?) N,

() oy TRwm fire fife 20 o fig @R ST < (aluminium

expands outward and the hole remains the same.)

(B) &gz <% T2 T (the hole decreases in diamater.)

() g oo SifmTca caraTen S coe T S 3f% o _

(the area of the hole expands in the same ratio as that of the area of any part of the aluminium.)
(D>mmwnﬁﬁmmwxmmmmaﬁwgﬁmu (the area of the
hole expands in a greater ratio than that of the area of any part of the aluminium.)

i e bR« fevrs e QTR W T QT @ SV W A (OB iy

TORE I TR T (Two vectors of equal magnitude are acting at a point. The value of the resulta

vector is equal to the value of either of the vectors. What is the angle between the vectors?)
(A) 0° (B) 90° (C) 120° (D) 180°

¥ @WMMW@WWW T T oF T Ry A o4 RS T

T T T R @3 e waeE W wm &® y fem won) FefiRe o orefe

M2 afere st 32 (A car accelerates from rest on a straight road. A short time later, the cy
decelerates to a stop. It then retums to its original position in a similar manner. Which of the following

(m = integer)

(A) 97 (z2r0) (B)2nmm + n/4 (C) 2mm + /2 D) 2rm+n

T oG O 4R 4 TR TR AR ATRE = ex? W, @A ¢ = 93, TR ofR
ﬁwv=?(lflheelecu'icﬁelduuinthe+xdirmionandhasamgnimdegivenby£=cx'(hmc=
constant), then the electric potential V=7

(A) —2cx (B) 2¢x 4 (C)=cx?/3 (D) ex*/3




28,

26.

27.

28,

29.
o R T T o o Red a e T g R o w6 g o of av oy

30.

L

mmmammmmmmﬂfs-ncev 1 w8y @ avw o & 37 (An
electron in the first Bohr orbit of a hydrogen atom has a total energy of ~13.6 eV. What |s the total
energy in the third Bohr orbit?)

(A)=15¢Vv (D) =34 ¢V (C) ~45eV (D) ~40.8 eV

AT W w0 vl e eompee efpoged eamee e o dive oo v @,
E/B &3 R 9% WY Q30F TN (In a plane clectromagnetic wave propagating in vacuum, the ratio of
the amplitudes of the electric to magnetic fields, £/8 in S units is.)

(A) SO @RS 31, w (the angular frequency of the wave, @)

(B) S XMTTY ST, A (the wavelength of the wave in vacuum, 1)

(C) 71 T WoTR @, ¢ (the speed of light in vacuum, ¢.)

(D) "R 853, h (Planck’s constant, h.)

10 m's TRERTS 7 MG Fore ¢ W <2 W oo Ry S0 o @R A0y
(¥R §89 @) 2 (Which of the following four graphs comrectly represents a particle moving in a circular
path of redius r at a constant speed of 10 m/s (a is the acceleration)?)

t [ : 1 F
a (A) a ®) a (C) a (D)
_—r r r r

13 1€ T (Displacement is obtained from:)

(A) G- TR CTTER BT (XU 1 (the slope of the velocity-time graph.)

(B) TRt~ 1% (AT O (T 1 (the slope of the acceleration-time graph)

(C) ot~ 7w cerefotara fATs Coameey (471 (the area under the velocity-time graph.)

(D) G- 70 fotam fAsa CRawst (RT3 (the area under the acceleration-time graph.)
TR RIS WO QIR W SR SRR T @ o 72D o @ e F o AT o

JOTH W 238 (Two parallel long wires carry the same current and repel each other with a force F per unit

length. If both these currents are doubled and the separation between the wires is tripled, the force per

unit length becomes:)

(A)2F/3 (B)4F/3 (C)2F/9 (D) 4F/9

vz o1f oF - a Tl TG (VT ST AR FAANT A YK HAH R ST IR —
aft @ T R wmes? (In planetary motions - “the line joining the star to the planet sweeps out

equal areas in equal times”, This is a direct consequence of which principle? )

(A) *If&= 5wt A (the conservation of energy.)

. (B) SR e A% (the conservation of momentum.)

(C) - SRTTH 1wt A1 (the conservation of angular momentum.) ‘
(D) ST 7 S| (the conservation of mass.)
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TARA (Chemistry) : i
+ Ti0y(s) @% CO(R) @7 ‘st Wb wAWEGH TWHHLT 940 k) mol azf -:: eln:aa -
Ti0a(s)+2C(s)~Ti (s)+2€0(g), €% fifrum et amerify oy w2 (The.mn "
of formation® of Ti0,(s) and CO(g) are —940 kj mol™* and —110 kj mol™, respectively. What
standard enthalpy change of the reaction Ti0(s)+2C(s)-Ti (s)+2€0(g) ?) .

(A) ~830 kJ mol* (B) =720 k] mol"! (C) +720 k) mol*! (D) +830 kJ mol

o U QR Ne @7 7a6d w3l civm 3T el smfeR ez e 1310 3390 5320 7450.11?00
13300 71000 kj mol*| iRz *mr wrarer oo 3R A 87 (The first seven iomsnu:n
energies of an element between Li and Neare: 1310 3390 5320 7450 11000 13300 71000 kj mol,
What is the electronic configuration of the valence shell of an atom of that element?)

(A) 252 (B) 2s72p! (C) 2s22p* (D) 2s%2p

- (¥R S T W 2R o fdiea TR ATA? (In which atom or ion are the numbers of electrons
and neutrons equal?)

(A) iBe (B)YiF (C) §}Na* (D) '30*-

. Fon el sovrefi om Zn(s)/Zn** (aq)|ICu™ (aq)/Cu(s) @z fes TFH? (Which one of the
following increases the potential of the Galvanic cell, Zn(s)/Zn** (aQ)||Cu?* (aq) /Cu(s) ?)

(A) increase in [Zn?*) (B) increase in [Cu’™)

(C) increase in [2n?*) and [Cu¥*Jequally (D) increase in [2Zn**) and decrease in [Cu**)

- W TR fafrm gnumtee = 0 R Srfe wrn (“Reaction enthalpy™ of which
reaction represents the “standard enthalpy of formation™)

() CO(R)+ 1 0,()~C0,(5) (B) Ha(g)+ 305 ()~H,0 (g)

(C)NOR)+ 10, () ~N0, (y) (D) K(s)+Mn(s) +20, () ~KMnO, (s)
.mmmmafxﬁcmfz‘mww«m e
concentrated sulfuric acid 1o form sulfur?)

(A) NaF (B) Nacl (C) NaBr

- 2KNOy~2KNO,+0, fefzre ories ¢ feofre o von &
and reduced respectively in the reaction, 2 ENO, -2 KNO, +0,7)

(A) nitrogen and O\Mgen () oxygen and nirogen
(C) potassium and O\ygen (D) nirogen and Potassium
AlLCl, mmwﬁeﬁmw«m’wmwﬁ
coordination covalent bonds, fespectively are present in the Al 1€, molecute?

(A6, 2 Bre, | €)%, 0 0)7,0

- B ISR oy Sinm e ST T o0y 2w 0 mésﬁmgdmg{m,“;.
TERT T @ (An M

ian‘»cfcunmonwmhuﬁw
electrons in the 34 subshell What jon might M7° be?)

(Which salt reacts with

(© Fer* (D) 52+

(C) Na<mpi+ene D) Mg *SNa*sNe
6
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24.CuS0, @7 & F o. ¢ S SffeeriE Yo R 2190 ST e 9 offf FoE W T
ited if 0.5 A current is passed for 10 minutes through aqucous CuSO4

(What mass of copper will be depos
solution? A, of Cu=63.5)
(A)0.0987 ¢ (8)0.0897¢ (C)0.0798 g (D)0.0789 ¢
25. FHR @A TR "@DATS TN M7 (Which one of the following compounds has the highest boiling
point?)
(A) CHy (B) NH, (C) PHy (D) HzS
26, TG QT TS % C? (Which of the following corrodes glass?)
(A) H3504 (B) HNO3 (C)HCI (D) HF
27. sp’ WERrSRTErIA FU0 sp® Wk Wi tefd 17 (How many sp® hybrid orbitals are formed in sp°
hybridisation? )
(A)2 (8)3 ©)4 D) s

28, Frafers wad- framad fafirma Seemorgz 7 (What are the products of the following redox reaction?)
K,Cr20,(aq) + H,504(aq) + FeS0,(aq) - Products (EeeroTR) .
(A) K350y, Fey(S04)3,H,0 (B) K250, Cry(S04)3, H20
(C) Cry(S04)3 , Fe2(S04)3, H20 (D) K504, Crz(S04)3 . Fea(S04)3 . H20

29,01 X, CeHyz0, ST NayCry0, Wit o T ¥ it 1 Y Gl oot ol ¥ H,S04 A
Bufifors Rumr Aoy fifew 7@ 7 vt 2ofd W) 2 @7 WS 7 (Compound X, CeHyz0, is
oxidised by acidified Na,Cr;0; to compound Y. Compound Y reacts with ethanol in the presence ofa
little concentrated H,SO, to give Z . What is the formula of Z?)
(A) CH3(CH,);CH=CH CO;H (B) CH3(CH;),CH,COCH,CH;
(C) CH;(CH;)4CO,CH,CH; (D) CH;CH,C0,(CHZ)4CHy

30.fisz ffsm fera X @ Y #17 (What are X and Y in the following reaction scheme?)

CHyCHoCH,Br > CHyCHRCHACN  CHyCH;CH,COOH

(A) X=NHj, Y=HCI (aq) (B) X=KCN in C;HsOH, Y=NaOH (aq)
(C) X=KCN in C;HsOH, Y=HCl (aq) (D) X=HCN, Y=NaOH (aq)
{3 (Mathematics)

L fO)=1+x" @AM AN x- ST (TRATA AT (The number of intersection by the curve
f(x) = 1+ x* with the x-axis is)

(A)0 (B)1 (€)2 (D)3
2. y=(1+x)/(1-x) T L @Ay = (1+2)/(1 =), then £ equals)
(A)=2/(x—1)? ®)2/(1—-x%) (©)2/(1-x)* (D) 2x/(1 = x)?
3. z=(-4+3i)/i 3 FefF® W1 (The imaginary part of z = (—4 + 3{) /i is)
(A)3 B)4 ©)—4 (D) -3
L "G+ "G+ G "= ?
(A2t +1 ®)2" ©2? D)2" -1

5. Wi TR WO ¥ P @3 w4AE WEE TW 2 2 (What is the minimum resultant of two equal
forces of magnitude P?)
(A) 2P ®0 (0} (D)P/2




ve - ok nt UxloxOY oY IYEYSYAr™ H
N0z k- 9\

6. wafd
BT QAT GO IR 10 G0 wifgy oraut revt e QRlBa st Wi 70 m/sec? 1o g yfzLa v

T (A runni
(A running train is stopped in 10 secomls Wil o brake, What way the velocity of the taln If Ita
average retardation was 70 m/sect 7)

. ;:: 1.:‘0: l;\/scc. (D) 800 m/see () 700 w/see (1) 500 m/see
; .\) PT=5x =6y 4 4 = 03000 @0 (1he centre of the cirele 3¢? | R AR D
) (1,2/3) M (5/0,1) W58, 1) () (2/3,-1)

S. y=% r=x?
¥ = R ORIy = 13 4 4 TN 49 11 Kk aq ol Wi (The stralght line y = kex will be o
tangent to the curve » = a2 4 4 itone of the values of k is)
(A1 23 ©)a (4
9. y=2 @xy= ]
- m\ ¥ Gee0T W SRY oo caane (1he area bounded by the lines y = 2 and
N (:;) 23q. n‘niu" " (13) 4 5q. units (€) 6 5q. units (1) 8 sq. units
- “Permutation” *a Idetam Ty vaqnds S G A e AfoUeE w6 AR Aan et

TR? ' ord ion"
(In how many ways the word "Permutation™ can be rearranged without changing the position of
the vowels?)

(A) 360 (B) 460 (C) 459 (D) 359
H.120 05 WO T 75 W 00 oo 93 65 oW QU odon | e Beu o oieet 7
(Out of 120 students 75 play cricket and 65 play football. How many of them play both the games?)

(A) 10 .(B)20 (€) 30 (D)4s
12.[3 -2 <4 comea T o (The solution set of the incquality [3=2| <t
Wi<x<i ®)-2<x<-1 ©i<xct W) F>x>3
1B.an 24 cos™t w2 - 75'*59"
(A) tan~1(5/9) (B) tan~*(3/7) ©) /2 o P07 40
4. (x’ +§)‘~na TS x -IF o (The x-free term in the expansion of (x’ + E)o is)
(A) 204 (8) 240 (C) 402 (D) 420
15. [VeXdx =2
(A);(c")"2 +c (B)%w/c_‘-f c (€)2e* 4 ¢ (D) e*? 4 ¢

-1
16, [oEtdx =2
(A) sec®(sin™*x) + ¢ (B)sec(sin™*x) +¢ (C)In|sec(sin™* x)| +¢ (D) Inftan(sin™ x)| 4 ¢
17.4 (0% 15 3 M TS (@ A Qe Hravum 2y Rer ¢ st afre svar 3 @
of To® ZeUM FERAT 2 (What is the probability that a number chosen randomly from 4 to 15 is a
prime number or a multiple of 37)

(A)6/7 (B)5/12 (©)2/3 (D)7/12
18.f(x) = "‘_‘" IR GE (The range of the function f(x) = ?i%n is)
WR-(1) ®R-(0) (©R~-(01) ) )

19.y=b 93 V3x—y+1=0 EUNGA GG WA ¥4 (The acute angle between the straight
linesy=>b andV3x—y+1=0 is)

(A) 30° (B) 45'4 % (C) 60° l |
“,9)2_,.‘5'.5-/7“'}“#" " -'}.A e (?’ a
b A, Y g ] é’i—'

A,
/(7 '(5 1"'l<—’& >




20 N‘!ﬁ-ﬂ—]oi‘:ﬂ-ﬁmwm (Thcnnglebctwccnlhevcc(onﬂ =i+jand D=7 +kis)
' (D) cos~ (1/VZ)

-1 n) cos™*(1/3) (C)cos™*(1/2)
21.:::):‘;: +(;:/r‘,-§)4y +4 =(0 )W \ﬂ/ﬁ = (One of the tangents to the circle x* + yre2x—4y+
- .
:A)::)o B)x=2 ©y=2 (D)y=f
22, cos?(60" + A) + cos?(60" — A) @A T (The value of cos?(60° + A) + cos? (60" = A)‘ls)
(A)1-3cos2A (B) 1 +sin24 (C)1+3cos24 (D) 1 +3c0s24
23, 2r sini(6/2) = 1 @8 FEAL T (The Cartesian cquation of 2rsin®(6/2) = 11s)
Wy =1+2x By =40-0 ©y=4+) O x* = 4(1+)
24.cotf cot38 = 1 FRFRCE ARD FAMGH (The general solution of the equation cot 8 cot36 =1 is)
(A) (2n + Dn/4 (B) (2n + 1)n/8 (C)nr/4 (D) 2n = 1)m/2
25y =x+4 OR y=x GMWER HYIRG (Theperpendiculardisuncebemeenthelincsy=x+4and
y=xis)
(A) 4 93% (B) 2VZ 93% (€)2aTT (D) 4VZ 9FF

26. x-%(-l-&wf——ﬁ!) dl!:y--;(—l-w/—_!)mx’+xy+y2a§m(lfx=i(—l+\/:§) and
y=%(—1-w/:§) then the value of x% 4 xy +y* is)

(A)0 (B)2 ©)1+V3 o)1
27.y2 -4y —x* +6x= 12 7rea4® @1 @R @ 7 (The type of the conic y2 — 4y —x* +6x =12
is)
(A) T (Circle) (B) ©973 (Ellipse) (C) *FTFa (Parabola) (D) Sf&33 (Hyperbola)
28, 242 - By? = 2 Wikacsa SerRfaweRr T (The value of the eccentricity of the hyperbola 2x — 8y =
2is)
(A 3/(2V2) (B)3/2 (©)V5/2 ®)5/2
. inx
29. Itm,..,;;’_,—(,-x-) =
(A)0 (B)1/3 o1 (D)3

30.07 ~7x 42 = 0 FRewR Y T2 IW FARCE 5fre2f (The equation whose roots are less

v ) by?.lhanthoscofthecquationx‘-7x+2=0is)
= (A)x*—4x+6=0 @)x*-3x-8=0 (C)x’-11x+8=0 (D)x*-3x+8=0

<

)

Sraf¥@ (Biology)

| e wéaze iR AW (The name of the largest bone of skull is)

(A) TReTTS wfY (Hyoid bone) (B) R4 (Mandible) (C) 3P (Ramus) (D) 1T (Maxilla)
2. @TCS i wwan feT ofew T2 (Which one has superficial placentation?)

(A) Oryza sativa  (B) Nelumbo nucifera (C) Helianthus annuus (D) Portulaca oleracea
3. Wiy «feamarer (¥l WE (Radial symmetry is observed in)

(A) Ctenophora (B) Gastropoda (C) Porifera . (D) Cnidaria
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T‘ - N %m
v TR CRR o | TR SETR N W (Whieh of the following diseases oceurs due to the

etfect of'lethal gene™
(A I 0 IR (Red-green colour blindssss)  (R) SRR (Ihalassemia)

(C) TR (Haemophilia) (D) =T R (Muscular dystrophy)
L IR R X e sehe ST (Luteinizing hormone influences)
() ST IF (Growth of bone) (B) ST RS (Food metabolism)
(OY T (Blood pressure) (D) % WA T (Function of sex hormonce)
R ® G = (Squid is an animal under the phylum)
(A) Porifern (B) Planyhelminthes  (C) Mollusca (D) Nematoda

TR VDT o TR @ W o TX (Glisson’s capsule membrane is found in the following
organ of human bady)

(A TFE (Liver) (B) W™ (Pancreas)

(C) wmir &fF (Salivary glands) (D) W% ¥ (Gastric glande)

R R W WX (The scientific name of Bostami Turtle is)

(A) Aspideretes hurum ~ (B) Asplderetes migricans  (C) Chelonia mydas (D) Pangshura tecta

9. CFWR S MR G™ FRIW? (Which one produces disease in tea plant?)
(A) Penlcillium (B) Phytophthora (C) Alrernaria (D) Cephaleuros
10. Amst o7 3R e o (Which one of the foliowing plants has stomium?)
(A) Riccia (B) Anthoceros (C) Preris (D) Hidiscus
1. R SRR TR SRS T (Which microorganism is capable of fixing nitrogen?)
(A) Bacillus (B) Acetobacter (C) Pseudomonas (D) Nitrobacter
12. 7= feem v R QUSRI MW TT? (In which stage of cell division tetrads are found?)
(A) GO (Leptotene) (B) SROTRR (Zygotene)
(C) WRTRTT (Pachytenc) (D) SRR (Diakinesis)
13. FfAfor 7l SR (Number of teeth in guinea pig is)
(A)20 (B) 24 ()20 (D) 3o
14. ez cafore 2Rt o R e (Which one of the following has imbricate aestivation?)

(A) Cassia sophera (B) Brassica napus  (C) Lablad purpureus (D) Pisum sativum

15. mym Frrfies o Mo wfws @ (Which organism forms greater number in pyramids of
number?)
(A) =7 (Producer) (B) ST ¥ (Primary consumer)
(C) GreasTft ¥ (Secondary consurmer) (D) PR 99 (Tertiany consumer)
16. FOAHRM W = TR G TE? (Which type of cell contains hypnotoxin?)
(A) T GO7¥ (Sensory cell) (B) L% 7% (Gland cell)
(C) fT=13% (Cnidocyte) (D) 19T 7 (Pseudopodial cell)
17, TR W TSR TR IO (What is the percentage of plasma in human blood?)
(A)45% (B) 35% (C)os% (D) 735%

18.

F05% i 7 T TS TN AT (Which one of the following prevents clotting of blood?)
(A) YRR (Heparin) (B)S= | Thrombin)  (C) TR (Fibrin) (D) s¥er™= (Thromboplastin)
1




26.

27.

28.

29,

30.

AR SRS I GRVRT cofft 4T? (How many rectus muscles are present in human eyc?)
A v @®) (B)8 (1) ©)©3) (D) ¥ (6)

. fTsa RD TTw®PrE? (Which one of the following is o phospholipid?)

(AN (Wax)  (B) 3R (Rubber)  (C) Br®redaet (Sitosterol) (D) it (Cephalin)

. siFeBRE B o DR atsa @E? (Which one is the termination codon for

polypeptide translation?)

(A) AUG (B) UGG (C) UGA (D) AGU
. TNTETR (A 012 &2 - (Salamander belongs to which order?)
(A) Anura (B) Crocodilia (C) Gymnophiona (D) Caudata
. o sieg Q3w AT @ (The mammal that lays eggs is) . .
(A) 37 (Rat) (B) T (Pangolin)  (C) T (Platypus) (D) FTefrereT (Squirrel)
. S SIS WA B 797 Z0? (What is the term used for the study of reptiles?)
(A) Lo (Herpetology) (B) SrRfAe=fe (Omithology)
(C) myrreifer ( Mammalogy) (D) WiereseifE (Malacology)

. TS S1DIE N Ao 9T (The smallest structural unit of cell wall is)

(A) Micelle (B) Microfibril (C) Fibril (D) Fibre
sfioge Rmm Irwt e RTIORPRF w39 @W®? (Which is the phenotypic ratio due to
complementary gene?)

(A) 15:1 (B)13:3 )97 (D) 9:3:3:1
@ @ BT Afia%A w7 G (Plants those do not have vascular system belong to)
(A) Bryophyta (B) Preridophyta (C) Gymnosperm (D) Angiosperm

YT (ST6 TR GAFTRT @ TS Forafie zevrR RfiFum @ @y WS (The enzyme mvolvcd ]
in the reaction that converts glucose into ethyl alcohol and water is)

(A) Cellulase (B) Cellubiase (C) Zymase (D) Catalase
‘Enquiry into Plants’ 320 Z51 373 (The book ‘Enquiry into Plants’ was written by)

(A) Carolus Linnaeus (B) Charles Darwin (C) Gregor Johann Mendel (D) Theophrastus
fmea RTATSTS TRUSTCNAAT «137 (Which one of the following has hormogonia?)

(A) Sargassum (B) Ocillatoria (C) Valvox (D) Zygnema

e
G SR fiai - s
_(B) 3¢9 7 (C) so80 57 (D) >xv» >
B OMIR | STER TETS IR AT IR ST 2o o
(B) weawifer (C) smeerw D) ==
/P G i TSR ' T
A) e (B) 7=t (C) =far (D) Srer

Y T o e s s et - R T e v v Tor- 5
(A) Rt . (B) et 1y (©) 7w (D) Wl




/.
”
7

\}/nrm R Tty e vy

RS (B) 4R
L TR S (©) v
(A) SRprd (B) Sofemamsh’ (C) s
7. _~Phonetics’ TN TR I @Y '
(A) SR (B) IRty whifam
§. TRE ey Povendy ’ R
A)==R (B) wre% (©) R
O, @ IFWLIT v
/fM =T, N (B) wmeifis, g (C) B, o
W) TRy (B) = wméx (C) ¥ =i
‘/{ﬁweaﬁmmﬁmemmw-mmmm
A) T (B) == ©3
Z. OIS TR O SR T I e @ qrem
(A)s (B) =ow =& (C) e
13, T - o7 vy ey
(A Ve (B) Yz f5 (QRE-N
|14 R IR o eE T .
| (A) =Sy . (B)¥&Famy (C) ¥y
|15, e @R TEEme T
(A) =50 S (B) AR ERR  (C) M BT TR
16. "' TITURD (T {0 T TGS TN
(A) Tow (B) =t (€)==
’ 17, “Frowr wew ¢
; (A) ¥ (B) fezmre (C) ¥
18. Fow & e T Sy
(A) comer ces e S e (B) e G B
(C) B T3k RGOSR (D) ¢ gere
19. "2PT (T ST o W o 1 I R avty
(A)SEsReRem (B) Wl s (C) 'mrefds wite
20. "X (R - T R (I TR
(A) ST (B) (C) st
21, IR TG GO - TG
(A) =% (B) Reerest (C) fem
22, "SRY wrew TR © DY
(A) o0 B (B) T3 (C) S7+¥
23, ' T om, e AW I @ O IR Ay
(A) = (B) W (©) &
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(D) »f

(D) srgwra
(D) foxfrmm

(D) cotrgfirer

(D) wfiw, wwere
(D) 7 e
(D) s

(D) 7

(D) Vgt

() =

(D) T g et
(D) ot

(D) ot

(D) WouT T
(D) ¥

(D) feerg

(D) S5+28

(D) cifs




4,

30.

faom cus it v

(A) St e S (B) s i smif¥e

(C) sy i s (D) v fore e
R e ey S ST - el o covn o o’ ol #7

(At - (B)T® €y (D) ety
. S AT e wd Ay

(A) %= (B) 5% (C) worerd (D) vy
‘S e g e A e fiftw e seE-wan

(A)af® (B)o® (C)s (D) 8%

G BT ot i Tae T

(A) wfstee (B) SRwR (C) et (D) S
‘AT TR (0 9 YPRIIT (A WA

(A) TovmTTt (B) 7=k (C) oo weee (D) =y
TSR ROTTR W0 (A B 2

(A) (B) (C) T (D) =

@ (English)

Read the following passage and answer the questions 1-5

Probably no belief has been more tenaciously held among people of all times than the conviction that it is
possible to judge en individual's mental characteristics by the way he is put together physically. Novelists
describe the build, facial shape, coloring, and cloths of their characters in such a way as to accentuale the
inner qualities which they assume are expressed by these things. Intelligent men and women who “pooh-
pooh™ the idea of fortune-telling in general still fr¢l that “there may be something in this palmistry vt
phrenology.” Books explaining persoinlity in terms of the glands obtain wide and enthusiastic
acceptance. Employment interviewers develop their own systems of judging prospective employees by
their appearance. Habits of thinking in such terms are ingrained in our language in such expressions as
“high-brow," “long-headed,” or “thin-skinned."
Novelists judge an individual's mental characteristics by
(A) telling fortune  (B) appearance  (C) expressing acceptance (D) physical shape, oolor and cloths

‘Prospective’ in the passage isa/an .
(A) adverb (B) noun (C) adjective (D) verb
Phrenology is

(A) the detailed study of the shape and size of the cranium as a supposed indication of character and
mental abilities.

(B) the art or practice of supposcdly interpreting a person's character or predicting their future by
examining the palm of their hand.

(C) the study of the movements and relative positions of celestial bodies interpreted as having ar
influence on human affairs.

(D) the study of the shape and features of a person's facial expression.

A synonym of ‘sccentuate’ is

(A) cyphasize ( m axnress (C) foretell (D) include

The phrase “poolpoch’ L

At acnp ey ) 3 Jhic mspect (D1 ke fo o groved



Fill in each blank with the mast appropriate wordivords (Questions 6-30)

6. What docs 3, ¢, 5. stands for?
(A) before Christ ern (B) before the Clist ery
(&) h?l'orv the common era () before comman orn
7 Thc.uuln e e three times this week,
(A)is (B) has been (C') have been (1) Is being
8 hardly an understatement 10 say that online scarching . changed dramatically with
the development of the Web, | o
(A)is, was (BB) has been, hns (C) is, has (D) was, has
9. What surprised me the most was how and reacted exactly like you, said the banker to me.
(A) did he look (B) does he look (C) he looked (D) could he look
10. Ifyou _ ihe environmental damage that plastic bags cause, the cost difference
really negligible.
(A) consider, will (B) will consider, is (C) would consider, will (D) consider, is
I'l. Bangladesh has been one of the in formulating and implementing a National Drug Policy in
the face of the massively powerful and global pharmaccutical industry,
(A) colonists, lucrative (B) pioneers, lucrative
(C) followers, unprofitable (D) followers, sccondary
12. Succeeding in college often is a challenge for students, + most colleges provide services
designed to help students,
(A) morcover (B) in addition (C) therefore (D) as a result
13. The woman sees the cat out in the rain; the cal is gone by the time the woman goes outside.
(A) however (B) and (C) even if (D) after all
14. The work was finished e timeand ____ budgetl.
(A) off, on (B) in, with (C) within, with (D) on, within
I5. The troops mustered in front of the garrison. Here, the word *muster’ means___,
(A) 10 find courage (B) to summon (C) to gather (D) to come
I6. The child sat mute in the comer of the park. Here, ‘mute’ is o/an i
(A) noun (B) adjective (C) adverb (D) verb
17. Where _____ when you met him?
(A) does he live (B) was he living (C) was he live (D) is he living
18. Which one is the correct spelling?
(A) chauffeur (B) chaufTar (C) chaffeur (D) chuffeur
19. The world has seen many Diasporas but scholars have been studying the phenomenon ____ great interest
only ___ recent decades. '
(A) with, in (B) with, for (C) of, in (D) in, for
20. Snorkelling is one kind of e
(A) diving (B) driving (C) walking (D) shooting
21. What is the meaning of the proverb, ‘the pot calling the kettle back'?
(A) be your own (B) never leave your root

(C) take your decision by your own conscience
(D) do not criticize somebody for a fault that you possess yourself

. My father live in Gazipur.
(C) used to (D) was used to

(A) use to (B) was use to
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